IsyE 6202  Warehousing Systems

Fall 2002

Spyros Reveliotis

Homework #5

Due Date: 11/19/02

(video students: 11/21/02)

Reading Assignment: Chapter 9 from Bartholdi and Hackman, plus the material presented in class on warehouse zoning and bucket brigades.

Problem Set: 

1. Questions 9.1-9.3 from Bartholdi and Hackman.

2. Four workers A, B, C and D are to be organized according to the method of bucket-brigades for flow rack-based picking. The flow rack extends over a length of 15 meters, and from past observations, the picking rates of the four workers are as follows:

	worker
	picking rate

	A
	3.0m/min

	B
	2.5m/min

	C
	1.8m/min

	D
	2.3m/min


Answer the following:

i. What is the worker arrangement indicated by the bucket brigades?

ii. What is the resulting line throughput in orders/hour?

iii. What are the expected picking areas for each worker, after the line has balanced itself?

